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Geometry H
6.5 —SSS ~ and SAS™

e | can SSS~, and SAS~ to show that triangles are similar.
e | can use SSS~ and SAS™ to find side lengths and angle measures.

Theorem Name What it says... Example with explanation
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v" | can use SSS~ to solve problems.
2) Find the value of x that makes AABC ~ ADEF
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v" | can use SAS~ to identify similar triangles.
3) Are the triangles similar? If so, write a similarity statement and state the similarity postulate or theorem

that justifies your answer.
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v" | can use SAS~ to solve problems.

4) Find the value of m that makes AABC ~ ADEF when AB=3,BC=4,DE=2m,and EF=m+5, ZB=/E .
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5) You are building a lean-to shelter starting from a tree branch, as shown. Can you construct the right end
s0 it is similar to the left end using the angle measures and lengths shown?
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